

Theme: The fundamental solution of the fractional diffusion equation

Burxonov Ma'sudjon Damir o'g'li

JDPI 2-course master

Abstract: This paper provides information on the fundamental solution of the fractional diffusion equation.

Keywords: diffusion equation, Koshi issue, fundamental solution, Fourier transform, Mittag-Leffler function.

$$\begin{cases} {}^K D_{0+t}^\alpha y(x) + \lambda y(x) = f(x) & x \in \mathbb{R}, t > 0 \\ y(0) = y_0 \end{cases} \quad (1) \rightarrow \text{Koshi (1) issue}$$

$y(x) = y_0 E_\alpha(-\lambda x^\alpha) + \int_0^x y^{\alpha-1} E_{\alpha,\alpha}(-\lambda y^\alpha) f(x-y) dy$ (2) \rightarrow The solution to the Koshi(1) problem.

We derive the fundamental solution of the fractional diffusion equation by the solution of the Koshi(1) problem.

The following question is posed:

$$\begin{cases} {}^K D_{0+t}^\alpha U(x, t) - U_{xx} = f(x, t) & x \in \mathbb{R}, t > 0 \\ U(x, 0) = \varphi(x) \end{cases} \quad (3)$$

(3) We use Fourier integral substitution to find the solution of the equation.

Fourier substitution of the function f in \mathbb{R}

$$F[f] = F[f(x)](\zeta) = \widehat{f}(\zeta) := \int_{-\infty}^{+\infty} e^{ix\zeta} f(x) dx, \zeta \in \mathbb{R} \quad \text{appears.}$$

We use the integral Fourier substitution for a fractional order product meaning Caputo:

$$F[{}^K D_{0+t}^\alpha U] = {}^K D_{0+t}^\alpha \widehat{U}$$

We also express U_{xx} by the Fourier integral substitution:

$$\begin{aligned} F[U_{xx}] &= \int_{-\infty}^{+\infty} e^{ix\zeta} U_{xx} dx = \int_{-\infty}^{-\infty} e^{-ix\zeta} d(U_x) = \\ &= e^{-ix\zeta} U_x \Big|_{-\infty}^{\infty} + \zeta i \int_{+\infty}^{-\infty} e^{-ix\zeta} U_x dx = 0 + \zeta i \int_{-\infty}^{\infty} e^{-ix\zeta} dU = \zeta i (e^{ix\zeta} U \Big|_{-\infty}^{\infty} + \\ &+ \zeta i \int_{\infty}^{-\infty} e^{ix\zeta} U dx = \zeta i (0 + i\zeta \widehat{U}) = -\zeta^2 \widehat{U} \end{aligned}$$

(When it comes to solutions $\int u dv = uv - \int v du$ from the fractional integration formula,

$$e^{-ix} = \cos x - i \sin x, \quad \lim_{|x| \rightarrow \infty} (U_x; U) = 0 \quad \text{we used the equations.})$$

$$F[f(x,t)](\zeta) = \hat{f}(\zeta, t)$$

If we put the resulting expressions in equation(3), this equation takes the following form:

$$\begin{cases} {}^K D_{0+t}^\alpha \hat{U} + \zeta^2 \hat{U} = \hat{f}(\zeta, t) & \zeta \in R, t > 0 \\ \hat{U}(\zeta, 0) = \hat{\varphi}(\zeta) \end{cases} \quad (4)$$

The view of the equation is consistent with Koshi(1) problem:

$$\begin{cases} {}^K D_{0+t}^\alpha y(x) + \lambda y(x) = f(x) & x \in R, t > 0 \\ y(0) = y_0 \end{cases} \quad (1)$$

To find the solution of equation(4), we use the solution of Koshi problem(1)

$y(x) = y_0 E_\alpha(-\lambda x^\alpha) + \int_0^x y^{\alpha-1} E_{\alpha,\alpha}(-\lambda y^\alpha) f(x-y) dy$ expression(1) is solution of equation.

Accordingly, we give the solution of equation(4):

$$\hat{U}(\zeta; t) = E_\alpha(-\zeta^2 t^\alpha) + \int_0^t y^{\alpha-1} E_{\alpha,\alpha}(-\zeta^2 y^\alpha) \hat{f}(\zeta; t-y) dy \quad (5)$$

$$\text{According to this equation } \begin{cases} {}^K D_{0+t}^\alpha U(x, t) - U_{xx} = f(x, t) & x \in R, t > 0 \\ U(x, 0) = \varphi(x) \end{cases} \quad (3)$$

we use the inverse Fourier substitution to achieve the solution of equation(3).

The inverse Fourier substitution of the function $f(x)$ is called the following integral:

$$F^{-1}[f] = F^{-1}[f(x)](\zeta) = \frac{1}{2\pi} \int_R e^{ix\zeta} f(\zeta) d\zeta$$

$$\text{Ergo : } U = F^{-1}[\hat{U}] = \frac{1}{2\pi} \int_R e^{ix\zeta} \hat{u}(\zeta; t) d\zeta \quad (6)$$

Substituting (5) for \hat{U} in equation(6), we obtain a fundamental solution of the fractional diffusion equation of the form:

$$U(x,t) = \frac{1}{2\pi} \int_R e^{ix\zeta} \left[E_\alpha(-\zeta^2 t^\alpha) + \int_0^t y^{\alpha-1} E_{\alpha,\alpha}(-\zeta^2 y^\alpha) \hat{f}(\zeta; t-y) dy \right] d\zeta \quad (7)$$

Equation(7) is a solution of equation(3).

We consider that this solution is appropriate for the following issue:

$$\begin{cases} {}^K D_{0+t}^\alpha U(x, t) - U_{xx} = f & x \in R, t > 0 \\ U(x, 0) = \delta(x) \end{cases} \quad (8)$$

Here $\delta(x)$ is Dirac's delta function:

$$\delta(x - x_0) = \begin{cases} +\infty, & x = x_0 \\ 0, & x \neq x_0 \end{cases}$$

$$\int_R \delta(x - x_0) dx = 1 \quad , \quad \forall y \in D(R) = C_0^\infty(R)$$

$$\int_R \delta(x - x_0) \varphi(x) dx = \varphi(x_0) \quad (9) \quad , \quad \delta(x) = \delta(-x) \text{ (dual function)}$$

Find $U(x,0)$ by equation(7):

$$U(x,0) = \frac{1}{2\pi} \int_R e^{ixz} \left[E_\alpha(-z^2 t^\alpha) + \int_0^0 y^{\alpha-1} E_{\alpha,\alpha}(-z^2 y^\alpha) \hat{f}(z; 0 - y) dy \right] dz =$$

$$\frac{1}{2\pi} \int_R e^{ixz} dz = \delta(x)$$

(This is the result $\int_0^0 y^{\alpha-1} E_{\alpha,\alpha}(-z^2 y^\alpha) \hat{f}(z; 0 - y) dy = 0$,

$$E_\alpha(-z^2 t^\alpha) = \sum_{n=0}^{\infty} \frac{(-z^2 t^\alpha)^n}{\Gamma(\alpha n + 1)} \text{ originated according to the expressions)}$$

According to formula (9) it follows that the solution expressed by equation(7) is appropriated for the problem of the form(8)

$$U(x,0) = \int_R \varphi(y) \left[\frac{1}{2\pi} \int_R e^{iz(x-y)} dz \right] dy = \int_R \varphi(y) \delta(x - y) dy = \varphi(x)$$

References

1. Samko S. G., Kilbas A. A., Marichev O. I. Integrali i proizvodnie drobnogo poryadka I nekotore ix prilozheniya. Minsk: Nauka i texnika, 1987.
2. Merjiyevskiy L. A., Korchagina A. N. Sravneniye metodov chislennogo resheniya zadach dlya uravneniya teploprovodnosti drobnogo poryadka // X Mejdunarodniy seminar «Supervichisleniya i matematicheskoye modelirovaniye». Sarov, 2008.
3. Goloviznin V. M., Kiselyov V. P., Korotkin I. A. Chislennie metodi resheniya uravneniya drobnoy diffuzii v odnomernom sluchaye. M., 2002.

4. Taukenova F. Shxanukov-Lafishev M. X. Raznostnie metodi resheniya kra-yevix zadach dlya differentsialnix uravneniy drobnogo poryadka // Jurnal vichisli-telnoy matematiki i matematicheskoy fiziki. 2006. T. 46. №. 10. S. 1871–1881